rescaled density p/o

rescaled density p/p

YBR0O82C

3AT, full, a/=0.035000, B=0.588003, /=12, aAt=10, n,/N=1000, N=110,

12 A

10 A

f = 0.015587425
45 = 0.164+0.106
r=0.7230(0.7670)

Amax=5.0871
AM =0.5880

AWt =2.4373
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codon position i
3AT, full, a/=0.050000, 8=0.588003, /=12, aAt=10, n,c/N=1000, N=110,
12 A
f = 0.021002398 Amax=5.0871
/o0 =0.214+0.112 AM =0.5880
10 r= 0.7152(0.7670) Am =2.4373
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codon position i

® a/f=0.035r=0.7230
® a/f=0.050;r=0.7152

e a/B=0.035;r=0.7230
e a/f=0.050;r=0.7152
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